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IEL: BE h—1) HEKEMNETS
IERS - L& - &5 - M5
i £ &8 g
IET = 1.00 215, 144, 000
BT = 1.00 83, 087, 000
BT = 1.00 83, 087, 628
Bt BHLLIO. 45m3#k m3 15,513.00 2,142 33, 228, 846
BB B BEEE15. Okm m3 15,513.00 3,214 49, 858, 782
WS EBT = 1.00 122,521,000
EBT = 1.00 75, 891, 813
NGV AFER [1300-2000 x 2000 #PRIMR4Ht3. Ocm m2 2,789. 40 26,979 75, 255, 222
EILZ LR UNER) t=8cm m2 58.90 10, 808 636, 591
Foh—I = 1.00 46, 629, 545
T Uoh—IHHE = 1.00 8,312, 895
I (7rh—) m 1,854.00 10, 656 19, 756, 224
R—1 T UBEE [a 49.00 18, 161 889, 889
Ris (Frh—) Zem3 4,172.50 4,235 17, 670, 537
WETEMRET = 1.00 1,157,000
BRERAIEMRT = 1.00 1,157,195
SRS FH LR m 95.00 12,181 1,157,195
EEMEBET = 1.00 8, 379, 000
BEYIRELT = 1.00 8, 379, 364
BEEREILZ LA THIE L SAIEBEIY m3 123.10 6,614 814,183
BES R THER L HEFEIS m3 44.00 6,614 291,016
RCEREBEBRR U EEWRAE - BE = 1.00 2,761,268
EXEREMERE (2R FEA - Bk EHkEEEET9. Skm m3 337.00 6,514 2,195,218
EEREYLHE (2K) 5 m3 170. 00 7,644 1,299, 480
EEREYLHE (23K Fig m3 167. 00 6,097 1,018,199
RET = 1.00 8,969, 000
& T = 1.00 8,969, 000
IERERT = 1.00 460, 670
BERERER - E 22%1524x3048 {tFA3008 ® 35.00 13,162 460, 670
T8 - REEUT = 1.00 254,967
KEBE+DS5#E =% 111.00 2,297 254,967
R e = 1.00 2, 653, 650
YL IHEMRE - BE H=3. Om m 50.00 41,080 2, 054, 000
REWERE - BE H=3. Om m 50.00 11,993 599, 650
TEARMNET = 1.00 3,720, 640
TEREE (&M ~EH) m3 70. 60 5,122 361,613
R - BB m3 17.10 8, 049 137,637
EEREMERE (K#) AEHEEEEE32. 6km m3 87.60 13, 831 1,211,595
EEXEREDUSE (K#) EXR (8. #. 8B%) t 48.20 41,697 2,009, 795
ZFDith =% 1.00 1,879, 200
REFEREMBEB AB 120. 00 15, 660 1,879, 200
EHEIEE =% 1.00 224,113, 000
HEBERRE =% 1.00 21, 648, 000
HERZE FELTHED =% 1.00 377,000
Bk E =% 1.00 377, 607
RERAHERR BHL=12m B2 1km 318 kiR t 28.10 9,099 255, 681
RERAERR BHL=12m FrE2. 1km £18 [HEH t 13. 40 9,099 121,926
HomRERE (Rt L) =% 1.00 16, 942, 000
HIBREWRER (Rt L) =% 1.00 4,329, 000
MIEE =% 1.00 245,761, 000
RIGEEE =% 1.00 58, 714, 000
TERE =% 1.00 304, 475, 000
—REEES =% 1.00 44,325, 000
—REEEE =% 1.00 44, 325, 000
TEH =% 1.00 348, 800, 000
HEBENEE =% 1.00 34, 880, 000
EELE =% 1.00 383, 680, 000
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